
Practice! Practice! Practice! 

Use your multiplication of decimals skills to calculate the following 
purchases: 

1. 35 people need $1.85 loose leaf packages 

2. 6 tubes of toothpaste cost $0.95 each 

3. 17 cans of $0.65 cans of tomato soup 

4. 10 yogurt tubes cost $0.67 each 

5. 75 riding helmets at a cost of $10.50 each 

6. 6 disk racks at a cost of $6.01 each 

7. 8 ball point pens at a cost of $0.47 each 

8. 38 book covers cost $0.10 each 

9. 11 rulers cost $0.26 each



Practice! Practice! Practice! - Key 

Use your multiplication of decimals skills to calculate the following 
purchases: 

1. 35 people need $1.85 loose leaf packages 

Answer:  $64.75 

2. 6 tubes of toothpaste cost $0.95 each 

Answer:  $5.70 

3. 17 cans of $0.65 cans of tomato soup 

Answer:  $11.05 

4. 10 yogurt tubes cost $0.67 each 

Answer:  $6.70 

5. 75 riding helmets at a cost of $10.50 each 

Answer:  $787.50 

6. 6 disk racks at a cost of $6.01 each 

Answer:  $36.06 

7. 8 ball point pens at a cost of $0.47 each 

Answer:  $3.76 

8. 38 book covers cost $0.10 each 

Answer:  $3.80 

9. 11 rulers cost $0.26 each 

Answer:  $2.86


